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Question No. 1
The steam point has a temperature of 212

A)°C B)K
C)°F D)°R
a9 g &1 A 212 g &l

A)°C B)K
C)°F D)°R

Answer Key : C

Question No. 2
is the amount of heat energy required to raise the temperature of a body by 1 °C or 1 K.
A)Thermal conductivity B)Latent heat of fusion
C)Thermal capacity D)Latent heat of vaporization

, T Rz &1 aA A 1 °C a1 1 K sg= & AT 3maeas AT Fot I A g
A)ardr @Tererdr B)Hordel T el SSAT
C)arfiT &1Adr D)aTSHehoT T I[Cd FSAT

Answer Key : C

Question No. 3

The amount of heat required to melt one gram of ice to one gram of water at 0 °C is approximately.
A)80 J B)335J

C)197 J D)253 J

0 °C W U IAH §% A Th AH It H REad= & AU 31aede FSAT Hr AET d9T817T gl

A)80 J B)335 J

C)197 J D)253 J

Answer Key : B

Question No. 4
The constant temperature at which a liquid changes into gas/vapour is known as-
A)Condensation B)Melting point
C)Boiling point D)Sublimation

g¢ R aae 59 W #$ ga Sa/arsy & aRafdd & siar &, Far sgerar 872
A)FEAT B)3TeTeTeh

C)Faysiih D)Fedarast

Answer Key : C

Question No. 5
Under the Joule Thomson effect, when a gas is allowed to escape adiabatically, through a , from a
region of constant high pressure to a region at constant low pressure, it undergoes a change of temperature.
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A)Porous plug B)Hollow pipe
C)Hollow square bar D)Compressor

ST AIAE G & I, o9 R 9 A TRR 3T g9E 9 &7 @ R A7 gEE e a9 #
&% ATIH § TEISH T § AT foeherer BT AT & S €, A s9 A F aRade gir g
A)fEegerd wofeT B)@@er urgq

C)@r@e diehR Tgy D)yddsh

Answer Key : A

Question No. 6
Wien's displacement law is useful for estimating the-
A)Surface temperature of celestial bodies B)High pressure of boilers
C)Depth of the sea D)Low pressure of the evaporator

diet T fATuTTer 9 e A R & T 9l g7
A)3trerreir ST &1 adgr argaAeT B)ST¥eR & 3Td gald
C)aHg T TETs D)aTsHiemuTeRdl &l foleT gara

Answer Key : A

Question No. 7
The molar gas constant (R) is defined as-
A)The sum of the Avogadro number and Boltzmann's B)The difference between the Avogadro number and
constant Boltzmann's constant
C)The ratio between the Avogadro number and D)Avogadro's number times the Boltzmann constant

Boltzmann's constant

AR A9 FFdaie (R) & v R IRART Far siwar &2
A)37aRTET FEAT 3R Siegada RTH & JeT F B)3maemarl §&ar 3R Siecorda R & &g & 3]
a
)Ty HEAr AN ool RN & g & D)IENTR B HET B dlecorie RRRIE & U &
31T &
Answer Key : D
Question No. 8
A steam engine delivers 10 x 108 J/min and services 5 x 10° J/min of heat from a boiler. What is the efficiency
of the engine?
A)60% B)40%
C)20% D)80%

T H9 ST Tk §ige”k ¥ 10 x 108 J/MAsie i FAT yed :ar & 3R 5 x 10° JMAae & FwA7 iy aar
g1 ST 1 FRAETHAT Faer &2

A)60% B)40%

C)20% D)80%

Answer Key : C

Question No. 9
Double refraction is also known as-
A)Birefringence B)Interference
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C)Beats D)Echo

e 9dcie Fr F T & o e S B

A) TR e B)geefthied
C)drew D)ser (wfcreata)

Answer Key : A

Question No. 10
Newton's corpuscular theory was able to explain which of the following phenomena?
A)lInterference B)Diffraction
C)Polarisation D)Reflection

e 1 FHiorer Bgia AefAf@a & @ o aRaear Hr sarear we 7 e ar?
A)zafaaor B)faarcir
Olcicay) D)wRreciet

Answer Key : D

Question No. 11
is a thermodynamic quantity which is a measure of the randomness or disorder of the molecules of

the system.
A)Entropy B)Specific heat
C)Energy D)Enthalpy

, T ISHEIAS AT § S Jomell & 3T T Arefesehar a1 sreqawyr & A9 g

A)Teerdr B)fafarse Fwar
C)Fair D)uedredt

Answer Key : A

Question No. 12
The total heat content of a substance or a system at constant pressure and temperature is called-
A)Entropy B)Specific heat
C)Internal energy D)Enthalpy

R game 3R e ) R ger a1 goel iy For AR AT Fr = Fer v 82

A)Tegrdr B)fafarse Fwam
C)3iiaRer Feit D)u=dred

Answer Key : D

uestion No. 13

According to the International System of Units, the base unit of is Kelvin.
A)Temperature B)Specific heat capacity
C)Resistance D)Inductance

FARET FfAcH JoTelt & 31[ER, #r 3R gfAe Hfeae B

A)dTIATT B)faferse Fwar enfkar
C)wfarrer D)Reea

Answer Key : A

Question No. 14
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The concepts of temperature and thermal equilibrium led to the law of thermodynamics.
A)First B)Zeroth

C)Second D)Third

a9 3R AT et $r aURONST A FeAEIfARr & e #r gfqurfed fhan

A) T B) el

C)efadr D)eelrar

~

Answer Key : B

Question No. 15
The J kg™! K1 is the unit of-
A)Specific heat capacity B)Thermal conductivity
C)Molar volume D)Molar density

J kg K Ry g ¥

A)fafarse FsAT &THaT B)drdI dTelehdr
C)ATeR 3 IdeT D)ATeR gelca
Answer Key : A

Question No. 16
What is the unit of molar specific heat capacity?

A)J kg2 K2 B)J mol! K"
C)J kg K" D)J kg™! K3
Arer RAfrse FwaAr eniar $r gfae w2 82

A)J kg2 K2 B)J mol! K-
C)J kg! K1 D)J kg! K3

Answer Key : B

Question No. 17

The theorem of can be used to predict the heat capacity of gases.
A)Equipartition of energy B)Momentum of energy
C)Partial pressure D)Joule-Kelvin effect

F TAT FT 39T AAE A FAT GRAT F 3GAE ool F AT BFFar s wwar g
A)FST & gAfIHTST B)Z il & Hadr
C)31ifAeh e D)S[ef-shfeasl wemma

Answer Key : A

Question No. 18
The equilibrium states of a thermodynamic system are described by-
A)Microscopic variables B)Only volume
C)Only pressure D)State variables

SSHATTAHT JOTell T HeJeleT AT T qUieT e TR fham Sirem &7
A)gEHGRTT T B)ehdel 3TAcIeT
C)&ad ot D)3ra®dm =X
Answer Key : D
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Question No. 19
Which magnetic cooling technique is most effective for cooling down materials that are typically gaseous in

nature?
A)Adiabatic demagnetisation B)Pulse magnetisation
C)Static magnetisation D)Electro-magnetisation

FleT W gahrg MacreT Thelier 37 ol F 337 T & AT Fa@ For § S AN W vl F A @

4
A)TersH fadehrentor B)Ued GaehIahor
C)edfaH Ferhreor D)fdegd-gaehrenior

Answer Key : A

Question No. 20
Inter-atomic forces, which are also short-range forces, play an important role in-

A)Gases B)Solids

C)Vapours D)Fumes

FHR-GLATY] q, S BIE-RA & oo o §, # Agcaqor A e g1
A)3rat B)arat

C)arsqt D)%:'l;(r

Answer Key : B

Question No. 21
Kinetic theory describes how gases behave based on the principle that gases consist of-

A)Static atoms B)Stationary molecules

C)Static ions D)Rapidly moving atoms or molecules

sifas Rgia aarar § & A 38 Rga & 3R W & gagr &= § & dar & i g §1
A) s qRAToR3i B)3rerer 3T0r3it

C)eifas et D)dsit & aifdATeT oRATOL3T I 3ror3i

Answer Key : D

uestion No. 22

has the shortest wavelength, and has the longest wavelength.
A)Violet, red B)Green, violet
C)Red, green D)Orange, blue
_ @Araei gmu o gdr g, 3R fr qErted g e g 1
AT, el B)&R, darelr
C)dre, &Y D)=, sfrer

Answer Key : A

Question No. 23
Which of the following is known as a state variable?
A)Heat B)Pressure
C)Work D)Both heat and work

frfaf@a 7 ¥ P 36T o F §T F FET S1ar 272
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A)FSAT B)eeTa
C) D)FsAT AR &, aer

Answer Key : B

Question No. 24
What substances undergo adiabatic demagnetisation exclusively?

A)Ferromagnetic B)Paramagnetic
C)Diamagnetic D)Antiferromagnetic
A gerd RAY FT F TerH RAgahamor & era §?

At B)3tggerr
C)wferdaerr D)wfariEadrr

P e

Answer Key : B

Question No. 25
Cold stars with a temperature below 3500 K display very strong broad bands of-
A)Barium sulphate B)Lithium sulphide
C)Titanium oxide D)Zinc sulphate

3500Kﬂmmmmaﬁmwa§awaﬁﬁgqaﬁamﬁ
A)IRIA Fethe B)fifa# gewiss
C)ersefage 3iterarss D)fSis @ethe

Answer Key : C

Question No. 26
What is the appropriate descending sequence of frequencies in an electromagnetic spectrum?
A)Radio waves, microwaves, infrared, visible light, B)YGamma rays, X-rays, ultraviolet, visible light,
ultraviolet, X-rays, gamma rays infrared, microwaves, radio waves
C)X-rays, ultraviolet, gamma rays, infrared, D)Visible light, microwaves, X-rays, gamma rays, radio
microwaves, radio waves, visible light waves, ultraviolet, infrared

fega deshar Tasrea 7 ngfcadl & 3R 3reRIEr wa T g2
ARFSIT TRET, ABHIdeH, SFPRS, TIATT  YHTel, B)IHAT favol, X-HI0T, WIeere, TTAGT Jehlel, SRS,

C)X-forul, WRreiaredl, meAT Ui, S7%pRS, HASshided, D)TIAT Yhrel, FASshided, X-Theor, amar fhor, Izar
BT aET, TRIATT gehrer TG, W, SRS

Answer Key : B

uestion No. 27

At the triple point of water, the temperature is and the pressure is
A)273.16 K, 611 Pa B)412.87 K, 433 Pa
C)326.89 K, 366 Pa D)502.37 K, 588 Pa
TRl & B Rg W, ameA 3R gara gl &

A)273.16 K, 611 Pa B)412.87 K, 433 Pa
C)326.89 K, 366 Pa D)502.37 K, 588 Pa

Answer Key : A

Question No. 28
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A stationary wave resulting from two waves travelling in opposite directions obeys which principle?
A)Principle of superposition B)Principle of diffraction
C)Principle of refraction D)Principle of motion

fAadia fRmait & s\ v W & aeit & aRomAE & =it eI JXer fRe RAgia & gt Rt 82
A)gaRarsiies &1 Rgra B)dadsT &1 fagia
C)319ad= & Rdgia D)t & Rgid

Answer Key : A

Question No. 29
The points at which the stationery waves represent zero amplitude are called-

A)Junctions B)Antinodes
C)Nodes D)Joints

IS T et Mgt R e I B Rk 8, 358 FEd &l
A)SiFer B)ufesis

C)aArs D)sis

Answer Key : C

Question No. 30
Which mode has the lowest possible natural frequency of an oscillating system?
A)Start mode B)Fundamental mode
C)Middle mode D)Last mode

frEll aleret SoTel & RRE HiS ¥ wgeIcH WeTad TIpfae gfed @i &7
A)URTAS AZ B)#ifore #Als
Cymer wE D)3ifeT g

Answer Key : B

Question No. 31

The nature of wave motion is periodic.

A)Doubly B) Triply
C)Quarterly D)Not
T afa A vl 3mafeF gt B

A)RIA B)feregsAt
C)3rias D)=Tgr

Answer Key : A

Question No. 32
What is a wind instrument that uses open-end air columns?
A)Harmonium B)Piano
C)Harp D)Flute

g Y arel Ay sl T ST e qrell ag YO el 6T §?
A)RATIIH B) =T
Cyer Djatgd
Answer Key : D
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Question No. 33
Motion-related frequency change is named after which of the following physicists?
A)Fraunhofer B)Doppler
C)Fresnel D)Huygens

afa-gefta rgfea aRade # ameaor st ¥ fFa difas R & amr ) fFr mr g2

A)HT3TgIHT B)3TterR
C)h&ael D)egsled

Answer Key : B

Question No. 34
The elastic property that defines the ratio of compressive stress to volumetric strain is called-
A)Bulk modulus B)Shear modulus
C)Young's modulus D)Deformity modulus

YA & 39 T F, S AT aoa 3R Iafaw RFpfa & equra & oRenfda awar &,

gelleT ¢l
A)di& AR B)3T9®I0T ATIIh
C)J9T &I AMH D)fa%qor ATaR

Answer Key : A

Question No. 35
An oscillation degrades over a specific period of time in which type of oscillation?
A)AC wave oscillation B)Undamped oscillation

C)Swinging pendulum in vacuum D)Damped oscillation

R YPR & Qo 7 T AR gaIEa® #F s gedr Sar 82
A)AC aeT gretst B)3teTasfee alelet
C)fvae # gerer Ugerd D)3ta#fed arelet

Answer Key : D

uestion No. 36

A standing wave is formed when two waves with similar travelling through opposite orientations
collide.

A)Only frequencies B)Only wavelength

C)Frequencies, wavelength and amplitude D)Only amplitude

U U 9T aF Sl 8, o faudia ferms & qew WA &l & aidr e g

A)draer Jrgfeaat B)dhddl aIced

C)3gicadl, a’ar ded 3R 3maH D)shdel 3ATH

Answer Key : C

Question No. 37
Which wave is the steady-wave pattern created on a string that is fixed at both ends?
A)Stationary wave B)Slow wave
C)Travelling wave D)Fast wave

HleT W T gt ARF W aeh g8 o S W R T Yoo & &7 7 AT @dr &7
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A)ITYITHT T B) & ear
C)SRTaY aar D)dra a’er
Answer Key : A

Question No. 38
The pattern of motion which transfers energy from one place to another without transferring matter is called?
A)Lines B)Checks
C)Frequencies D)Waves

AT F 38 TWE F T Fed § N @S F WEORT Fe B T 7w T F @ WG a6

AR Fr 87
A)XEr B)Y+
C)3mgfea D)a<ar

C

Answer Key : D

Question No. 39
A stationary wave system with boundary conditions involving natural frequencies is called

oscillation.

A)Arbitrary mode B)Normal mode

C)Artificial mode D)Abnormal mode

Wipfas gfeadl & Sy AT Fufaat arelr e 3mwemed ader yorelr #r areleT g STl &
A)XafTos Al B)AmHAT HIS

C)FfadA s D)3TdTHT HIS

Answer Key : B

Question No. 40
The number of vibrating loops in the third harmonic of a string oscillating in standard mode is given as-

A)4 B)1

C)2 D)3

Aot A3 7 QreleT FXe arell T [T & AW gl & F97 F arer our i q&ar FETHE
TS B

A)4 B)1

C)2 D)3

Answer Key : D

Question No. 41
A closed end is a/an when considering the mode of oscillations for a column of air in a pipe which
is closed in one end.
A)Node B)Joint
C)Antinode D)Point

TFIRI AT F E T F AT F AT R ATAR R TAT TH a¢ RO T _ g ar § St & R
¥ &g g Bl

INGIES B)Ss

C)ufesrs D)fsig
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Answer Key : A

Question No. 42
Which of the following is NOT a Doppler application?

A)Sonography B)Radar

C)Aerospace navigation D)Generation of power
ST ¥ AT TF SfooR AT AE ¥?

A)BrAITHT B)TBR

C)TRIEIT AfgarereT D)fdege (power) &I 3cdrest

Answer Key : D

uestion No. 43

A progressive wave's wavelength (A) is the distance between two consecutive points of the same
phase at a given time.

A)Equal to B)Twice

C)Half D)Thrice

TS TETHT AT 1 T G2 (N) el RE 710 w37 ¥ v & WROT & & FwAe gt & f fr gl

g Bl
A)& HATT B)eI [T
C)erT 3TerT D)aT et =T

Answer Key : A

Question No. 44
The interference pattern between two slightly different frequencies, which is perceived as a periodical change
in volume, is called-
A)Shout B)Beat
C)Noise D)Echo

ar BIe IR i Igfeadt & & safawor F1 T@wy, O AT #7 AafE aRade F § 7 @ S §, w1

FgelTc g2
A)RIeerge B)sc
C)aiR D)ajet

Answer Key : B

Question No. 45
In which diffraction is the wavefront considered to be cylindrical or spherical?

A)In Fraunhofer diffraction only B)In both Fresnel and Fraunhofer diffraction
C)In Fresnel diffraction only D)Neither in Fresnel diffraction nor in Fraunhofer
diffraction

P Rade &, G # SRR 34T AR AT ST &2
A)dhad W3 faadsT & B)heatel 3R WI3giwR faade gt &
C)ahad el faade & D) a heste AadeT & 3R 7 & wE3agw fJade

Answer Key : C

Question No. 46
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The source of light and the screen on which the diffraction pattern is observed are at an infinite distance from
the diffracting system, in which of the following diffractions?

A)In Fresnel diffraction B)Neither in Fresnel diffraction nor in Fraunhofer
diffraction
C)In Fraunhofer diffraction D)In both Fresnel and Fraunhofer diffraction

s @ P9 Radsr &, yorr & AT 3R 97 B 5w | Qada & ded weitia gar §, Rada gomel &

3eid gt W fPua g 87
Ao ada & B)aT af Yol faadsT & 3R & & wisstge faada &
C)wi3TgIa faade & D)thstetel 3R W3grw faadsT, gt &

Answer Key : C

Question No. 47
Standing waves on a stretched string of length L between fixed ends can occur only when-
A)A=2L/n; wheren=1,23....... B)A=n/2L ; wheren=1,2,3.......
C)A=2Ln;wheren=123....... D)A=2L+n;wheren=1,23.......

L e1g & 0 el g6 3 W, R R & g R a6 Sae @l 3cueT g Fehell § 1o
A\ = 2L/n ; S8 n = 1,2,3...... B)A = n/2L ; S8 n = 1,2,3......

CA = 2Ln ; Sl@T n = 1,2,3..... DA = 2L+n ; S@T n = 1,2,3.....
Answer Key : A

Question No. 48
What is the right ascending order of the speed of sound?
A)Speed of sound in solids < speed of sound in water B)Speed of sound in air < speed of sound in water <
< speed of sound in air speed of sound in solids

C)Speed of sound in water < speed of sound in air < D)Speed of sound in water < speed of sound in solids

speed of sound in solids < speed of sound in air

eafar it a1fa &7 3T ARG FA AT 87

A)3rE # eafed &1 afd < 9l # eafd dr Afd < gar B)gar # eafd & a1fd < gl A eafay & afd < s/ A
#H eafer & aifq eafe 1 arfa

C)uh & eafey &1 Y < gar F eafy B AF < AW D)URN F eafy ¥ AN < I F ey A < gar F
#H eafer &7 aifa eafer T a1fa

Answer Key : B

Question No. 49
is/fare NOT an example of interference of light.
A)Soap bubbles B)Mirror
C)Oil on the surface of water D)Hologram

SoTH § PIT-HAT TP & ATARIUT T 3GTEI0T AT 8/a?

BTG & Jerger B)asoT
C)uTelr & Fdg W del D)graramH

Answer Key : B

Question No. 50
In the lowest energy level of the hydrogen atom, the electron has an angular momentum of-
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A)Ti/h B)h/mr
C)h/2m D)21/h

SISl UTATY] & fAsTaret Foll &R &, FoAFcleT H1 HIONT HIT frctarr grar 872
A)r/h B)h/m

C)h/2m D)2m/h

Answer Key : C

Question No. 51
Nuclei with the same mass number but with the proton and neutron numbers interchanged are called-

A)lsotopes B)lsobars

C)Mirror nuclei D)lsomers

AT GedHATe HEAT afhet Wiclal 3R sgglet A3t & R aRacer arer fder #r gl STl &
A)JTSEIRT SEIEGICIES

C)euur ATt RS D)3TsaeRH

Answer Key : C

Question No. 52
The uncertainty principle is applicable to-

A)Large systems only B)Small systems only

C)Sub-atomic particles only D)Both subatomic particles and large systems
sfRadar Rgia FFa | &) gar §?

A)dhde 93 TaEeH B)shad oIc fATea

C)¥ad 3YRHAUIS T D)39uATUaeh $uT 3R 93 BT gt

Answer Key : C

Question No. 53
The Compton shift is independent of the-

A)Wavelength of the incident photon B)Electron density
C)Angle of scattering D)Density of the material
FiFged Rive Foad T@aT 82

A)ITIfaT Weld i JRIeET B)galggiel Helcd
C)9ehrolar &1 shioT D)arAfT FT gefca

Answer Key : A

Question No. 54
The maximum kinetic energy of photoelectrons varies-
A)lnversely with the intensity and is independent of B)Inversely with the frequency and is independent of
the frequency of the incident radiation the intensity of the incident radiation
C)Linearly with both the frequency and the intensity D)Linearly with the frequency and is independent of
of the incident radiation the intensity of the incident radiation

BIEIgaaglal @ Hfdhar afas Feot Fa geR Fe gidr 87
AT & egchArdr gl & AR 3mafdd fafeor B)3mgicd & egchArdr glar g 3R mafad fafeor
&1 gfed & FacT g gl #r digar ¥ T&aT e B
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C)3mafdd fafeor & Jrgicd 3R arar @l & @y D)3gfed & @y W@ &7 & e gidr & 3R 3mafaa
Y@ &9 F dgorell el ol fafezor 1 erar @ FadT gl &

Answer Key : D

Question No. 55
X-ray and gamma-ray exposure is expressed in units of-
A)Kelvin B)Roentgen
C)Ampere D)Candela

XX AR Y TFEeR A - giAet F saea frar sar 82

A)Ffeas B)Tecaret
C)TFiRR D)&egall

Answer Key : B

Question No. 56
The minimum energy required to ionise an hydrogen atom from its ground state is above-
A)13.6 eV B)14.6 eV
C)0.236 eV D)136 eV

SISl WA FT 3WH AFTad (ground) 3w & AT WA F AT ravgsd ~aan For Fed IW

g anfgue?
A)13.6 eV B)14.6 eV
C)0.236 eV D)136 eV

Answer Key : A

Question No. 57
X-rays are similar to-

A)Cathode rays B)Beta rays
C)Gamma rays D)Alpha rays
XX (T frad ga e e €2

A)Fars faom B)dfrer faoit
C)amar fayom D)37ethr oot

Answer Key : C

Question No. 58
The Compton effect is NOT observable with-

A)X-rays B)Visible light
C)Gamma rays D)None of the options
Frrged T FHA ST AT A8 82

A)X fRoTt B)TT UehIr

C)emraT faott D)faehedt # & 1S T

Answer Key : B

Question No. 59
A cyclotron CANNOT be used to accelerate a/an-
A)Deuteron B)a-particle
C)Proton D)Neutron
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ArsFeielel I fhad c@xor & fAv gy w1t BFar o whar 82
A)3geRTA B)a-30T

RN

C)JietsT D)=ggiaT

ax

Answer Key : D

Question No. 60

Superconductors do NOT obey below critical temperature (T¢).
A)Ohm's law B)Coulomb's law
C)Hooke's law D)Lenz's law
sfaames, Fifas amAe (T) & A T ITeleT A& FLA &1
A)NH & s B)&eid & fas
Cg= & o D)elest & foras

Answer Key : A

Question No. 61
Calculate the de-Broglie wavelength for electrons, if their speed is 10° ms™ and mass is 9 x 103! kg.
(Planck's constant = 6.62 x 1034 Js)
A)83.3x 1010 m B)73.5x 10" m
C)0.57x 10" m D)1.6 x 1019 m

sogeld & AT S-serel aer e fir v FE, Al 37 aIfd 10° ms™! § 3R gegaRr 9 x 1031 fraame 1
(vl RRRi® = 6.62 x 1034Us #)

A)83.3 x 1010 m B)73.5 x 1010 m

C)0.57 x 10719 m D)1.6 x 1010 m

Answer Key : B

Question No. 62
The strangeness quantum number is conserved in-

A)Strong, weak and electromagnetic interactions B)Weak and electromagnetic interactions
C)Strong and weak interactions D)Strong and electromagnetic interactions
A)FSIgd, FASIR AR fdegd dahra sequareT & B)FASIR 3R fdegd Iahid sexwarrrd &
C)HsIgd AR FAAR Sexuaee # D)ASE 3R fdegd Yaehg geqvarr &

Answer Key : D

Question No. 63
J.J. Thomson's experiment revealed that-
A)Atoms are the smallest entities of matter B)Atoms are round in shape
C)Atoms are not electrically neutral D)Atoms contain negatively charged particles

J.J. AT 9T ¥ 9T e -

A)TTATY] e & FEE O 3HS ¢ B)SRAT] 3R #H el &t &
C)wA] faegd &9 & 3erfiel =781 8 & D)eReATOL3 7 FHOMAfAT o7 B &

Answer Key : D

Question No. 64
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The effect used to study the energy levels of homonuclear molecules is the-
A)Stark effect B)Zeeman effect
C)Paschen-Back effect D)Raman effect

BRIGFR A & Foll TR T HEAAA A $ AT 39807 v Sy arer wemra ler-ar g2
A)TeTh ST B)Siea wara

C)urade-dah AT D)IHT g

Answer Key : D

Question No. 65
Which term in the semi-empirical mass formula makes even-even nuclei more stable than odd-odd nuclei?
A)Surface energy term B)Coulomb energy term
C)Pairing energy term D)Volume energy term

HY-ITHAT GeA YA # FIA-AT UG FH-GH GiFei3ns 1 Ava-fawew fFasms & goem 7 3fts R

ST 87
AT FiT 98 B)&eid Foll Ug
C)geA= Fil Uq D)3Ide il Ug

Answer Key : C

Question No. 66
A photon has which of the following properties?
A)lt has zero rest mass B)It travels slower than the speed of light
C)ltis a charged particle D)It exhibits more particle properties

% Bl & fAefaf@a & @ sia-ar qor gar g2
A)gEaHT TIsmH gegd T g BT & B)a weprer &1 a1fa & off ofieft a1fay & a7 s &
C)Te Us ARG HoT g g D)a 3fis &oT o1 vefdia &ear gl

Answer Key : A

Question No. 67
The quadrupole moment of the nucleus is a-

A)Tensor B)Scalar

C)Vector D)None of the options
AHE 1 TGP AT gl

A)eTaR B)Ehol

C)daex D)fasredt & & S AT

Answer Key : A

Question No. 68
According to the liquid-drop model, when a nucleus is bombarded by neutrons, the compound nucleus attains
which of the given sequences of shapes?
A)Ellipsoidal, spherical, dumb-bell B)Spherical, ellipsoidal, dumb-bell
C)Spherical, dumb-bell, ellipsoidal D)Dumb-bell, ellipsoidal, spherical

Rer-ge (RfFas-gio) Asa F IFAR, F9 TF AfAF W gl @R TAay H ol g, o dfs affs Re
T HFR & 3HA F F PT-A1 91T Fr §?
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A)QEgcATR, MR, SF-ael B)ellehY, Ereigecihy, SFa-sel
C)aMelmhR, SFa-ef, Aredcdih D)s#a-ae, ArdgcaiehR, TNellhR

Answer Key : B

uestion No. 69

Bohr's radius of the hydrogen atom is its principal quantum number.

A)Directly proportional to the square of B)Inversely proportional to the square of
C)Directly proportional to D)Inversely proportional to

gIS3ISIT TTAT] T AR i Fsw, suhr v FaicH TR B B

A)F T & W e B)& a3 & gehaATeTTeht

C)F e 3mgrfas D)% S[eFATAT

Answer Key : A

Question No. 70
The Schrodinger time independent equation can be written as-
A)HY = EVY BHY=(E-V)V¥
CHW = (E+V) ¥ D)HY + EW =0

ANEPIR ez 3RS gHer A FT R fo@r ST Hahar 82

AHY = EY BJHY = (E - V) ¥
CHY = (E + V) ¥ DHY + E¥ = 0
Answer Key : A

Question No. 71
The probability of finding a particle in a volume dV can be written as-
A)P(r, tydV =|W(r, t)| dV B)P(r,t)=W¥ (r,t)ydv
C)P(r,tydVvV =| W (r,t)|2dv D)P(r,t)=| W (r, t)|3dV

AT dV H For fAea fr wRswar @t fFa geR forar S oawar 87

AP(r, t) dV =|¥(r, t)[dV B)P(r,t) =W (r, t) dV
C)P(r , t) dV =|l-IJ(r,t)|2dV D)P(r,t)=|‘P(r,t)|3dV
Answer Key : C

Question No. 72
Time independent Schrodinger's equation of a system represents the conservation of the-
A)Total binding energy of the system B)Total potential energy of the system
C)Total kinetic energy of the system D)Total energy of the system

T goTelr T e ERUEe ARIR i FHeRoT Fas T w1 g e §7
A)faFeH &1 Fol T Sl B)fes T T Hemifad it
C)f&Eea &I el IIfcisT ol D)ReeH &1 Fel it

Answer Key : D

Question No. 73
The baryon number of protons, the lepton number of protons, the baryon number of electrons and the lepton
number of electrons are, respectively-
A)Zero, zero, one and zero B)One, one, zero and one

C)One, zero, zero and one D)Zero, one, one and zero
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el fr INTT T&AT, Weld A AT TE&T, Sl 1 R F&AT 3T STl A T TE&AT FAM: FAT

7

AT, T, Th IR LT
C)ush, F, L 3N Th
Answer Key : C

B)Ts, T, T IR TH
D)Fd, Ush, T 3R =

uestion No. 74

The de Broglie wavelength of a tennis balls of mass 30 g moving with a velocity of 10 m/s is approximately:

(Planck's constant h = 6.63 x 10734 J s)
A)1.1x 1033 m
C)3.35x 103 m

B)2.208 x 1033 m
D)445 x 1033 m

10 m/s & 91 ¥ ST W 30 g GSHATT aTell A g I B ST AIEY, T AT gfr?

(ceie ReRi®, h= 6.63x 1034 J s §l)
A)1.1 x 1038 m

C)3.35 x 1033 m

Answer Key : B

An electric dipole is-
A)Two unequal charges present on a body

B)2.208 x 10 m
D)445 x 103 m

uestion No. 75

B)Two unequal charges present at some distance

C)A pair of equal and opposite charges separated by D)A pair of equal charges separated by a distance

a distance

e faegd afaya # §7
AT i3 @ S el 3EHAmE JTaer

B)$o gl W His[g & 31T 3aer

C)ush gl earT fasiisid @A aUr faudid 3maeit 1 D)Ush gl GaRT fasiiioid WAl 3MaRit &1 Teh Jod

Th ?I’??:l'
Answer Key : C

The electric field strength of a charge-
A)Decreases with the square of distance
C)Decreases with the cube of distance

forelt 3maer v faega & $r afed Far g 82
AGY & T & | gedr S gl
C)ell & ul & |y Teel el gl

Answer Key : A

The force between two charges is given by-
A)Bernoulli's law
C)Coulomb's law

ar MRt & g g fFaSF ganrT el ST §?
Al &1 fATe
C)gold &1 fags

uestion No. 76

B)Increases with the square of distance
D)Increases with distance

B)gll & & & @ e Bl
D)edl & &Y Feal STl gl

Question No. 77

B)Faraday's law
D)Ampere's law

B)¥RT2 & faas
D)TFiRR &l fAg#H
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Answer Key : C

Question No. 78
What is the dimensional formula of electric field intensity?
A)MLT-3A2 B)MLT3A"
C)ML2T-3A2 D)M-'L2TA?

fega &7 $r Ngar # 3meh g7 R 32

A)MLT-3A2 B)MLT-3A"
C)ML2T-3A2 D)M-1L2TA2
Answer Key : B

Question No. 79
Two plates are at potentials -20 V and +60 V. If the separation between the plates is 2 cm, then find the
electric field between them.
A)3000 V/m B)1500 V/m
C)4000 V/m D)2000 V/m

ar we -20 V 3R +60 V g w §1 A waeh & @ fr g 2 FeW &, o 39 < Rgga &7 A fifsw
A)3000 V/m B)1500 V/m

C)4000 V/m D)2000 V/m
Answer Key : C

Question No. 80
Gauss's law states that net flux through a closed surface is proportional to the-
A)Charge outside the surface B)Charge enclosed by the surface
C)Charge inside and outside the surface D)None of the options

e & A9H qa1r & & U 9 Wae & AIH ¥ Y VA fhEd AegarfaE giar 87
A)Tdg & dIgY & A B)&cE ¥ fORT g3 3maRr
C)ade & 3aY 3R agY & 3maer D)fasredl & & HS g

Answer Key : B
Question No. 81
Magnetic susceptibility is negative for-
A)Paramagnetic materials B)Diamagnetic materials
C)Ferromagnetic materials D)Ferrimagnetic materials

A) e aerd B)Sfcrgaehrar were
C)eltgdadra gars D)h{resrehrer were

Answer Key : B

Question No. 82
The meter bridge is also known as the-
A)Potentiometer B)Spectrometer
C)Slide wire bridge D)Rheostat

HeX T ) 5T 3 A7 A Y S Sar §7
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A) fsraaTdy B)TaereIHY

C)Eares arr faer D)aRT faa=e (R3fEard)

Answer Key : C

Question No. 83
Which current does NOT change direction with time?
A)DC current B)AC current
C)Both DC current and AC current D)None of the options

FleT W URT THT & I G2 A TEed?
A)DC &rT B)AC &1
C)DC &RT 3R AC &RT gt D)fesrent & & S T

Answer Key : A

Question No. 84
The capacitive reactance in an AC circuit is-
A)Effective wattage B)Effective voltage
C)Effective resistance due to capacity D)None of the options

AC Fffe & gy widera +ar gar &2
A)IHTET dredr B)9#TdT dtecat
C)&THAT & HRUT THTET FiaRIeT D)fdseal & & FS 8t

Answer Key : C

Question No. 85
Materials in which magnetization persists even after the field has been removed are called-
A)Hard ferro magnets B)Diamagnetic
C)Paramagnetic D)Soft ferro magnets

¥ gerd et 81T ger T e & a1g off gudhcd S @l §, FT FoA 67

A)HBR g Teh B)wfargehar
C)3teTsshra D)+ dilg ok

Answer Key : A

Question No. 86
Lenz's law is a consequence of the law of conservation of-
A)Momentum B)Energy
C)Mass D)Charge

ool T I Fas GIE0T & A9 &1 g §?

A)TdT S ER
C)aeg#T D)3maer
Answer Key : B

Question No. 87
If a glass rod is rubbed with silk, it acquires a positive charge because-
A)Protons are added to it B)Protons are removed from it
C)Electrons are added to it D)Electrons are removed from it
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g T T B P WH F WET AT O Ig UATHS AT IIed R oI & Fife-
A)HH Yieid A3 AT &1 B)sEd Uield g S gl
C)gHH Foleclel SIS S & D)sHd gelaclel gy ST gl

Answer Key : D

Question No. 88
The meter bridge is based on which principle?

A)Potentiometer B)Wheatstone bridge
C)Galvanometer D)Rheostat

e foer v Ragid W 3mearRa 872

A) FsTeraTdY B)eficEalT e
C)dreaaitdex D)Rafeee

Answer Key : B

Question No. 89
Energy is lost in the LCR circuit by-
A)R only B)L only
C)C only D)AIl of the options

LCR 9Ruy & Foll 7 &1 s ganrT giar &2
A)Fae R B)&aer L
C)&aa C D) asedt & & Y

Answer Key : A

Question No. 90
In which of the following substances does the resistance decrease with increase in temperature?
A)Carbon B)Constantan
C)Copper D)Silver

Afaf@d & ¥ FE 9 F AT dea W AR A g Sar 87

INEZEGH B)&ieEcsT
C)drar D)arer

Answer Key : A

Question No. 91
The potentiometer wire is usually made up of-
A)Aluminium B)Silver
C)Alloys D)None of the options

@A dR AR | FEE 91 @ar g2

A) TegAITTH B)aTar
C)ffsr e D)fasredt & & S &Y

Answer Key : C

Question No. 92
The Wheatstone bridge is used for the measurement of-
A)Very high resistance values B)High resistance values
C)Medium resistance values D)None of the options
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el foet o A & T gged R ST g2
A)TEd 3Ta JfaRe AT B)3<d UfeRIYT #Tel
Cyaead yfarry A D)fasredt & & #S 7T

Answer Key : C

Question No. 93
The sensitivity of the potentiometer can be increased by-
A)lIncreasing the EMF of the cell B)Increasing the length of the potentiometer wire
C)Decreasing the length of the wire of potentiometer D)None of the options

fasTaaTdy fr TagaTMear A F THR TR ST T 87
A)Tel T EMF @& ST &Y B)fastaATdY dR &1 W€ T el
C)fasrgaArdy & arR & deTS FY "eT W D)fasedt & & S Y

Answer Key : B

Question No. 94
The potentiometer gradient is defined as the-
A)lncrease of potential per unit length of the wire B)Fall of potential per unit area of the wire
C)Fall of potential per unit length of the wire D)Increase of potential per unit area of the wire

fasraaTdr AU Fr g yeR gl Far sirar 82
A)TR & 9fT shrS oiars & fasa & g B)dR & Ufd 3@l &athel H fawg & fRmac
C)arR & ufd s oars & Qg & R D)dR & Ui sers &athel # fasrd # gig

Answer Key : C

Question No. 95
What is the Q-factor of a series RLC circuit possessing a resonant frequency of 121 Hz and a bandwidth of 11

Hz?
A)15 B)13
Cc)M D)25

121 g&a1 &1 31gere Hgfcd AR 11 g1 i dsfagy arer 4@er RLC @fdhe 1 Q-FR T 872
A)15 B)13

C)11 D)25

Answer Key : C

Question No. 96
The Poynting vector gives the-

A)lIntensity of electric field B)Intensity of magnetic field
C)Rate of energy flow D)None of the options
A)faegd et & drerdr B)desh &1 &1 cfradr
C)3aiT Jarg &r & D)faseal & & FIg 8T

Answer Key : C

Question No. 97
At a temperature greater than Curie temperature, a ferromagnetic substance becomes-
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A)Antiferromagnetic B)Diamagnetic
C)Paramagnetic D)None of the options

FY A9A & AHAF AA W, clegehg e #4419 S g?
Aufaeigaraa B)wfcrdsshra

S

C)3eTdshId D)fawedl H & S AT

99

Answer Key : C

Question No. 98
A series resonant circuit has R =10 Q, L =6 mH and C = 0.006 pF. Find the quality factor Q.
A)100 B)500
C)300 D)200

TS 4ol 3G |fde A R = 10 Q, L = 6 mH 3R C = 0.006 pF Bl IUTacal #RF Q AT Ffaw]
A)100 B)500

C)300 D)200

Answer Key : A

Question No. 99
What is the equivalent resistance of 20 Q and 4 Q connected in parallel?
A)3.3Q B)6 Q
C)10 Q D)1.5Q

AR A & 53 20 Q 3R 4 Q F JeF Ffae FAr grem?
A)3.3 Q B)6 Q
C)10 Q D)1.5 Q
Answer Key : A

Question No. 100
Which of the following can be applied, in general, for an isolated system?
A)Law of Conservation of Energy B)Law of Conservation of Momentum
C)Law of Conservation of Angular Momentum D)AIl of the options

fafaf@a & ¥ =1, ave &9 @, & R{afa gonelt & AT oy R ST oawar 82
A)FST & EIETOT FH fTH B)HAT & EIETUT &1 fodadH
C)IUT FAIT & TETOT &l o IgeT D)fdsedt & & Tl

Answer Key : D

uestion No. 101

The law of thermodynamics deals with the conservation of energy.
A)Zeroth B)First

C)Second D)Third

FSARIGR & _ 9F Fot & TE0T § @6 d g

A)gar B)gu#H

Cefada D)eia

c

Answer Key : B

Question No. 102
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The incessant collision of the molecules of an ideal gas between each other is generally characterized as-
A)Perfectly inelastic B)lInelastic
C)Elastic D)None of the options

T e A F HURHT F TH g F T AR THIT B A dR W FE JHR AT ST g2
A)UTTAT YA B) 3T9caTEd
C)vcarey D)fashedt & & &g w7t

Answer Key : C

Question No. 103
If e is the coefficient of restitution, then which one of the following gives the condition for perfectly elastic

bodies?
Ae=0 B)e=0.5
Ce=0.8 D)e=1.0

A e FeITEA oTF §, A FeAfaf@a F @ Ha of vy et & e fuf &
Ae = 0 B)e = 0.5

Cle = 0.8 D)e = 1.0

Answer Key : D

Question No. 104
If two particles collide in such a way that they stick together after the collision and then move with a common
velocity, the collision is generally classified as a/an-
A)lnelastic collision B)Perfectly inelastic collision
C)Elastic collision D)AIl of the options

I &Y FUT 57 TR TG ¢ fh T & 91 9 398 H A9 o § 3 A & 9y 991 @ 9o §, ar
TG I A dR W s &7 & gafiepe ham sirem &2

A)IITEY TFHT B)fSesher 3T9caEY TaFaT
C)IcTTEY TFAT D)fdsredt & & Tafr

Answer Key : B

Question No. 105
An elastic collision conserves-
A)Kinetic energy but not momentum B)Momentum but not kinetic energy
C)Neither momentum nor kinetic energy D)Both kinetic energy and momentum

T YIRY T T TG T 8§72
AT FAT aifchad TaeT 7 g1 B)HAeT wifchet ISt Foil AT
C)a ar Haar 3R 7 & sifas Fa D)arfast FaT 3R Faer gt

Answer Key : D

Question No. 106
Angular momentum is a-
A)Vector quantity B)Product of linear momentum of the object and its
distance to the centre of rotation
C)Product of the moment of inertia and angular D)AIl of the options
velocity
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HIUNT FHAT TH FT 87

Ayafeer afer B)a&q & Yi@® HAW 3N gOT & g & 3 gl
I[UTAel

C)isca 3MEET 3R HIofT 7 FT I[UTEThe D)fgehent & & @efr

Answer Key : D

Question No. 107
It follows from conservation laws that if net torque is zero, then-
A)Angular momentum is conserved B)Linear momentum is conserved

C)Energy is conserved D)Angular momentum is not conserved

TET0T fAg@At § FE 9T Forr ¢ 6 I g <iF g €, A

A)Fofrg Faear Tfad e gl B)X&T TaeT TWi&T & gl
C)Fair e e gl D)ol daer Tfara gt Tgar §l

Answer Key : A

Question No. 108
The earth rotating about its own axis is considered to be a/an-
A)lnertial frame B)Non-inertial frame
C)Both inertial and non-inertial frames D)Neither an inertial nor a non-inertial frame

39 g W gA g5 T F TH FAT AN S §7
A)STScarT A B)IR-STscd %
C)sigcdrd 3R IR-FT5AT gt A D) a stecara 3R & & R-siscdT v

Answer Key : B

Question No. 109
In all inertial frames of reference, the laws of physics are-
A)The same B)Never the same
C)The same, sometimes D)None of the options

Tt Tt & ST A A, sifadr F R[aw F=w §2
A)FHTT B)&sT o FATT 6T
C)wsft-ef, TS D)fasedt & & HS AeT
Answer Key : A
Question No. 110
If the distance between the sun and the earth is increased by three times, then the force of attraction between

the two will-
A)Remain constant B)Reduce to one-sixth
C)Increase 6 times D)Reduce to one-ninth

IfE §F 3R A F g A g N I For & Sw, A At F v ITHSOT I FAT Fem?
AT e B)gca Uh-BaT g SATUal

C)6 =T §¢ Sirwam D)ereeh Teh-ilar T& ST
Answer Key : D

Question No. 111
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The Michelson-Morley experiment the existence of ether.
A)Proved B)Disproved
C)Neither proved nor disproved D)Supported
ASHAHA-Alel AT o W & 3fecdea o

A)&T JATOTT B)ahI YA
C)aT ar yaATola frar 3R & & vaAroia fear D)@ TAS

Answer Key : B

Question No. 112
In the case of geostationary satellites, the-
A)Orbit is in the equatorial plane B)Satellite goes round the earth once in roughly 24
hours
C)Satellite appears stationary with respect to a point D)AIl of the options
on the earth's surface

sEdfaF 3wt & A A
A)FeTT STHEIRAT a7 g g B)3eIE WRISTET 24 ©el F U AR YT & gEH demar
gl
C)39arg gedl &I Hdg W U &g & Fay # R D)fgsredt & 4 @l
fe@rs &ar gl

Answer Key : D

Question No. 113
If Reynold's number > 4000, then the flow is-
A)Turbulent B)Laminar
C)Streamline D)AII of the options

IfE Wes $r & > 4000 &, dr YaE A1 {N?
A)galser B)geoT
C)uRRYET garg D)fasredl # & |l

Answer Key : A

Question No. 114

Bernoulli's theorem is a consequence of the as applied to fluids in motion.
A)Conservation of mass B)Conservation of energy
C)Conservation of linear momentum D)Conservation of angular momentum

SeAfell it gAY aAfaART T gerif W Ay g arer = 9RO Bl
A)eTTHATT & TIETOT B)FSIT & &0
CRf&& a7 & |I&ToT D)FIufr FaeT & EHX&TOT

Answer Key : B

Question No. 115
Which of the following is included in Bernoulli's equation as its constituent terms?
A)Kinetic energy B)Potential energy
C)Pressure energy D)AIl of the options
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farafaf@a & & Fia ar sfelr fr gAewor # 30F geF Al & T & nfAe 872
A)aTfasT Fel B)Rufasr s
C)eara Fair D)fasear 7 & Tl

Answer Key : D

Question No. 116

Kepler's law states that all planets move in orbits, with the sun at one focus.
A)Circular B)Elliptical

C)Hyperbolic D)Parabolic

Foor F A9H FEar § B W a7 FeT3it F gAd §, 9w v whw | g g g
AT B)&TE gearehk

C)3tfamaaRs D)Raa&as

Answer Key : B

Question No. 117
Kepler's laws can be applied for-
A)Planets B)Moon
C)Atrtificial satellites D)AIl of the options

FoeR & fagaAr #r g o @y fRar S aehar 82
A)argt B)die
C)TH 3uargt D)fdshedt & & Tl

Answer Key : D

Question No. 118
If x4 and x2 denote the x coordinates of two particles having masses m¢ and my, respectively, then the x
coordinate of their centre of mass is-
A)(m1xq + maxz) / (Mq+my) B)(mx2 + mpXx4) / (Mq+my)
C)(m4+mz) / (Myxz + M2X4) D)(X1+x2) / (M1X1 + M2X2)

I x1 3R xo GTAT my 3R my T FAM:, & FUT & x AERAF Fr T & dF 39 AT Fg H X

eI = Fem?
A)(mqxq + moxp) / (my+mpy) B)(mixa + moxq) / (mq+mpy)
C)(m1+my) / (Mmyxg + mgXq) D)(x1+x2) / (M1x1 + maxp)

Answer Key : A

uestion No. 119

The distance of the centre of mass from each particle is the mass of the particle.
A)Directly proportional to B)Inversely proportional to

C)Equal to D)Always twice

YAF FUT ¥ GIAN & Fg T g FUT & gogA AT g #1

A)F WY 3Teqarias B)sh cgcshATIaTcl

C)&h SReX D)g#RIr &rer

Answer Key : B

Question No. 120
After his scattering experiment, Rutherford concluded that-
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A)The atom had a lot of empty space B)Most of the atom was occupied by continuous solid
matter
C)The atom had absolutely no material, and was fully D)The atom had no empty space and was fully solid as
empty space suggested by Thomson

39T JhIOT JART & 916, TS o fshy fAewer -

A)IATI] & HTohT @rell STTg AT B)IRATT] & TR #9T W oReX 31 uerd &1 el
|

C)wA] & faeshel IS WHA g1 M, & U Re A D)UHATA & T & R WA & H$ Tlell S

grelr SeTE AT e A 3R I U RE & o il

Answer Key : A

Question No. 121

Rutherford used a beam of to strike a thin metal foil.

A)Alpha particles B)Beta particles

C)Gamma rays D)X-rays

WEIDIS & T ool T T Gooll W WeR et & fAw _ o faor gt 1 3uher fma
A)3TeHI T B)ser &ur

C)amaT oot D)X feRot

Answer Key : A

Question No. 122
The collisions occurring in Rutherford scattering on the nucleus of the metal foil atoms due to the impinging
particles are generally considered to be-
A)Perfectly inelastic B)Elastic
C)lnelastic D)None of the options

WEIRE Fhole & a1 & Gooll WA & AIfAF W THIA arel FOIT & HROT gl alell chpl I A Rk W
AT HIAT ST 2

A)JUTRIT 3T B) 9y

C)3IcATES D)fdseut & & S g

Answer Key : B

Question No. 123

The Coriolis force is the angle of latitude.

A)lnversely proportional to B)Not dependent on

C)Directly proportional to D)Sometimes directly and sometimes inversely
proportional to

FIRfT o 3ratrer & v g &1

A)ah SGcshATATC B)oR AR wigr

C)& WY 3reTaTiareh D)eefr Ter 3megurfceh dr 3l sgcshAtegarc

Answer Key : C

Question No. 124
The Special Theory of Relativity is based on Einstein's recognition that the speed of light-
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A)Does not change even when the source of the light B)Can be varied
moves
C)Changes in different inertial frames D)Changes when the source of the light moves

HYETaT F TRV RBgid 3EET i 39 AIdr W 3mRa § & wehrer i afa-
A)IFTT T did FaRd gt W) o gRafda =181 gt B)@e=T 8 dshar &1
gl
C)RffesT s haAr & gRafda gy & D)Wehrer T W TIRA gl WX gRafdd gar 1

Answer Key : A

Question No. 125
What is the number of electrons in the valence shell of a pure semiconductor?
A)4 B)3
C)2 D)1

T Y QHAhsFeT & TSRl HIM F FoAFglell hr TEAT kel gl &2
A)4 B)3

C)2 D)1
Answer Key : A

Question No. 126
What is the resistivity of a pure semiconductor at absolute zero temperature?

A)Same as that of conductors at room temperature ~ B)Same as that of insulators at room temperature
O)Infinity D)Zero

quT 3 A W S e fr afaRieRar @ gt #?

A)FFY & dIAT 9T ATelehl & HATT B)®& & dI9HATT W S & FHTA
C)3tetet D)eFd

Answer Key : C

Question No. 127

The electrical conductivity of a conductor with an increase in temperature.
A)Increases B)Decreases

C)Remains the same D)None of the options

Treish HT Regd delhdl d9A # T gig & T gl

A)gedr B)aedr

C)TATT & D)fdseul & & S g

Answer Key : B

Question No. 128
What is the relative conductivity of copper?

A)100% B)90%
C)80% D)70%
HAT i FBF TrelHar fhaeT adr &2

A)100% B)90%

C)80% D)70%
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Answer Key : A

Question No. 129
Which of the following is a property of solids?
A)Fixed volume B)Fixed shape
C)Rigid shape D)AII of the options

fefaf@d & ¥ i @ S/t F1 T T 87
A)fAfead 3madsT B)fafRad 3mer
C)FoR 3R D)fdseatl 7 & Tl

Answer Key : D

Question No. 130
Which of the following is an example of organic semiconductors?
A)Silicon B)Anthracene
C)Polypyrrole D)GaAS

fRa & @ ST a1 Fefae ST # TE 3GEI0T 872
A) faferspia B) YT
C)afedRYer D)GaAS

Answer Key : B

Question No. 131
In a reverse-biased PN junction, the current through the junction increases abruptly at-
A)Half the volt B)One volt
C)Breakdown voltage D)Zero volts

Rad-arrs PN siRE &, SR & ST FHe 3aees Fa 9 ¢ Sar 82
A)3TET dlec B)U& dlec
C)siehsT3+l dlecst D)o dlee

Answer Key : C

Question No. 132
Which of the following is NOT correct with respect to a thermistor?
A)lt can be used as a temperature measurement B)lt is constructed from metal oxides
device

C)Temperature characteristics are linear D)Resistance is independent of temperature

¥ffieey & dey & Aeafaf@a & @ Fia ar adr 78 82

A)FHSI 39Tl AGA HG dlel 39T & & H B)SHT FATOT g 3erarss & fham i g
foRar ST Tt B

C)am# T fFAvard {ae g D)9faRIe, AT ¥ TadT gl ¢

Answer Key : D

Question No. 133
Which diode is known as the breakdown diode?
A)Zener diode B)Light-emitting diode
C)Schottky diode D)Varactor diode
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P T ST FHS3T 3AS & A A AT AT &7
A)TR 3RS B)UehIl 3cHolsh 3T
C)elehr sras D)R&eX SIS

Answer Key : A

Question No. 134
Which of the following are the independent variables in the common-emitter transistor configuration?
A)Input voltage and output voltage B)Input current and output voltage
C)Input current and input voltage D)Input current and output current

Aef@a # 9 FlF § FFEa-rfAw giforey FiemRea # @dT akvaew §2
A)FAYE dleest 3R 3M3eYe dlees B)geiye e 3R 3M3eqe dlecs
C)gaqe #e AR geiqe dlecst D)seige e 3R 3M3eye e
Answer Key : B

Question No. 135
What is the output voltage in the common-base transistor configuration?
A)Supply voltage B)Base voltage
C)Collector-to-base voltage D)Emitter-to-base voltage

A9 TS HifeHINAT H 3M3eYe dlecsl FT gl &2
A)TTaTs dreesT B)sT dlecat
C)FoldeX ¥ a9 dlecal D)uffeX & o dlecaT

Answer Key : C

Question No. 136
Which rectifier conducts only for the positive cycle of the input?
A)Centre-tapped rectifier B)Bridge rectifier
C)Full-wave rectifier D)Half-wave rectifier

et AT UFEHRR el SAYC & UeAlcHS Tsh HI Helloled Il ¢?
A)TieT-¢eg IfFeCHRR B)fssr e
C)pel-dd YFEHRR D)gTh-da IFehRR

Answer Key : D

Question No. 137
Symmetrically-saturated amplifiers operating in clipping mode can be used to convert a sine wave to a-
A)Pseudo square wave B)Triangular wave
C)Sine wave D)Sawtooth wave

fFafter Az & dafad TAfAT ¥ § Fqed WIAGRRE F1 39T A a@r #@ R 7 oRafda &= F fav

T ST wehar 87
A)BET I RaT B)eprofir a<ar
C)dTSeT aeT D)% ader

Answer Key : A

Question No. 138
What is the characteristic of the output in an oscillator?
A)Spiked B)Self-sustained
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C)DC D)Discontinuous

UF Qe # A3eqe A RAWAT = Qe §7

A)EaTses B)dcth-HEe3
C)DC D)3rdad
Answer Key : B

uestion No. 139

The is the unit of the modulation rate.
A)Centimetre B)Metre
C)Baud D)Second

_ Figgene & # gfae Bl
A)FdEeY B)#Hex
C)sfs D)&hs

Answer Key : C

Question No. 140
What is the minimum bandwidth required for an amplitude-modulated wave?
A)Six times the frequency of the modulating signal B)Five times the frequency of the modulating signal
C)Same frequency as of the modulating signal D)Twice the frequency of the modulating signal

A)ATsgATET [@aater &1 nglica &1 ©g T B)&ATsgeifear ffaeter 1 3mgfcd o arer [
C)ATsgAfeer aeter &I HAWA 3gfed A D)ATsgeIéar ffastel &1 3gfea & araga

Answer Key : D

Question No. 141
Which is used to extract data from a carrier wave?
A)Demodulator B)Amplifier
C)Modulator D)Oscillator

TS ded a1 ¥ 32T foshfia wie & v fraer 3uier frar smar &2
A)fATsgee B) TR

el

C)ATsereR D)aereh

Answer Key : A

Question No. 142
Which type of waves are used in the carrier wave for transmission?
A)Visible waves B)Light waves
C)Radio waves D)AIl of the options

aqed a@T # §AR F fav forg gR i aiei &1 39der fFar sar 82
A)TeT Tt B)JehTer eIt
C)RfEar ot D)asedt & & Y

Answer Key : C

Question No. 143
What is the expanded form of AGC in communication engineering?
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A)Alternate Gain Control B)Automatic Gain Control
C)Alternate Gain Code D)Automatic Gain Code

IR AR F AGC & quT &7 = 87

A)3Teleac AT Heldl B)3ifcAfes T sherar
C)3Teleieic AT HI3 D)3icAfes 3T FIs

Answer Key : B

Question No. 144
Which three colours are used in colour TV transmitters?
A)Red, yellow, pink B)Black, green, purple
C)Orange, blue, green D)Red, green, blue

e TV & graeet d e disr @i &1 3uaer Far siar 82
A)aTel, drelT, Irerrar B)Tell, &1, ST
C)aAraf, e, & D)elTel, g1, sitell

Answer Key : D

Question No. 145
What does 'C' stand for, in the term NTSC TV?
A)Committee B)Colour
C)Code D)Camera

NTSC TV 2lsg & 'C' & &1 3Y 8?2
A)HfAT B)&helk
C)aIs D)&aRT

Answer Key : A

Question No. 146
For which of these inputs will a 2-input OR gate give an output of HIGH?
A)Only if both inputs are HIGH B)If any of the inputs is LOW
C)If either or both of the inputs are HIGH D)Only if both inputs are LOW

g ¥ 69 gaqe ¥ fAv 2-579¢ OR 1 HIGH 3m3eye &am?

A)dhael d# St aelt gaqe HIGH &l B)afe #1$ 8 geiqe LOW &I
C)afE &S Ush AT gt go19¢ HIGH gl D)ehael Tl ST alet sei9e LOW &l
Answer Key : C

Question No. 147
Which of the following 2-input gates will give a LOW output when both of its inputs are HIGH?
A)OR B)NAND
C)AND D)XNOR

fmfaf@a # @ & 2-gege AT & 2t $99¢ HIGH 8 | Ig LOW 3M3eqe &Im?
A)OR B)NAND

C)AND D)XNOR

Answer Key : B

Question No. 148
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How many entries will be there in the truth table of a 4-input NAND gate?
A)4 B)8
C)16 D)32

4579 NAND e #r 3y o & fhael wfafear giefr?
A)4 B)8
C)16 D)32

Answer Key : C

Question No. 149
Which are the forms of complex logic gates?

A)AOI and OAl B)NAND and NOR
C)AND and OR D)NOT and OR
FEcAFE diford AT F PA-A T g &2

A)AOI 3R OAI B)NAND 3k NOR
C)AND 3R OR D)NOT 3iR OR

Answer Key : A

Question No. 150
How many 2-input NAND gates are required to implement a 2-input XOR gate?
A7 B)4
C)5 D)6

U& 2-59¢ XOR 1T & aR] #a & fAv fhaa 2-5a9c NAND et #r smaegerar gl 82
A)7 B)4

C)5 D)6

Answer Key : B
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